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Course : GE-3A
( Plant Anatomy and Embryology )

1. () oo faReas s tes fds 30 . 1x3=3
Choose the correct answer of the
following :

(i) TR e I ORT FoRY txr FbH/
P / cIfRiR |

Tissue responsible for secondary
growth in plants is cortex/ cambium/

pericycle.
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(2)

Periderm is constituted by phellogen,
phellem and phelloderm /phelotube/
phellyl.

(iii) wETe SRS TIRCEW /Il /F= T
R 40T H |
Xylem/Aerenchyma/Pith is poorly
developed in hydrophytic plant.

(b) AR AR [T I : 1x2=2
Fill in the blanks :
(i) BN TRFE <Ol o TR P
e fAchEAmm e

A typical embryo -sac of angio-
spermic plant corhprises
number of nucleus.

(i) OCAPR AL T |
The edible part of Areca nutis

.

2. 3 o 3x3=9
Write in short :
(@) 9V REE
Apomixis
(b) &I I
Function of stomata
(c) “HRIIR]
Pollen grain |
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3. TRE Per /e TR o Re@ 1 wsce
ey I Ty sRan 4+4=8

With suitable diagram, describe the structure
of simple tissues. Also mention the functions
of it.

51/ Or
5 Ot forar 4x2=8
Write short notes on :

(a) [ F
Vascular bundle

(b)) TR FAq

Laticiferous tissue

4. TRE fBrr RW F1e7 wer o Ry B
S TR A vk I fora o 3+3+3=9

With suitable diagram, describe the structure
of apical meristem of the plant. Also mention
the functions of mechanical tissues of the
plant.

51/ Or
59 COrt for 3x3=9

Write short notes on :

(@) TR T M e whurm shiw

Role of cambium in secondary growth of
the stem of plant
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(b) T TS WF TR IR
Dermal tissue system and its functions
(0 I=TTOR INIRT &g
Practical application of polyembryony
s.%wﬁm@m%@wscwﬁﬁﬂm
FCATEFY 361 3947 | 5+5=10

With a suitable diagram, describe the various
types of endosperms found in angiosperms.

YT/ Or
5 B for - 5%2=10
Write short notes on :
(a) SRS
Embryo sac
(b) i@ TR Ty o
Structure of dicot stem
6. 1t 7 Rm oor ot Ry o 1+6=7
What are stomata? Write about di
of stomata. ifferent types
7 Wﬁ?ﬁ@%ﬁm%m| 144=5
What is ovule? Write ap
— out different types of
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Course : GE-3B

( Economic Botany and Plant Biotechnology )

1. (a) oo fERERS wa Yed fdn o : 1x3=3
Choose the correct answer of the
following :

() B. @ 9. RoRfAfs: e wRkeRe
TS e (S /M0 /o7 e |

The discoverer of DNA fingerprinting
is Alec Jeffreys/Robertis/Paul Berg.

(i) FiE /AR S/ QR 9o YRS
wfie P BoR IR T @ )

Ligase/Hydrolase/Restriction endo-
nuclease is used as molecular
scissor.

(i) (7 TeoAfeEE XA uRFa-ofor «fbar/
SR /o |

The centre of origin of wheat is
Southwest Asia/America/Africa.

(b) AR FIR [ : 1x2=2
Fill in the blanks :

(i) TR AT AN

The scientific name of jute is

(f) AR A A |

The edible part of rice is
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2. oY foran ' 4x3=12

‘Write in short :

(@) 2 9. TR @, g
ELISA

() . B. R,
PCR

(¢ SR. 9. q%. f.
RLFP

3. cofSers B m o R g2 TP Rive
IR PR Beaify 53 Reca s foran 2+10=12

What do you meari by Vavilov’s centre of
origin? Write briefly different centres of origin
of cultivated crops with examples,

Y&/ Or
w m‘ ﬁ’f"’ﬂ . 6x2=12
Write short notes on :

(o) SRYFERWR iR

Scope of biotechnology
(b) PReTe SaxfeRmm sems

Application of biotechnolog' in medicine

4. aﬁr«*@awaﬁmwwmm,

Give a brief account on
and uses of cotton.

6+6=12
Production process
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a1/ Or
oy or foren - 6x2=12

Write short notes on :

(@) FRTR A R o Teom aifdet

Production process of mustard oil from
mustard seeds

() R N IRI{
Uses of clove oil

5. RAw wivar 7 i ofwge SiRarrR R R
TS P S e &R RER W Ry
Ty 901 2+4+6=12

What is genetic engineering? What are the
tools of genetic engineering? Also mention
the application of genetic engineering in crop
improvements.

oJT/ Or
&Y COrt fordn 6x2=12

Write short notes on :

(@) RS PR

Molecular diagnosis

(b) T R

Genetic counselling
% % Kk
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